Entering 5" Grade Summer Math Packet

First Name: Last Name:

5" Grade Teacher:

| have checked the work completed:

Parent Signature

Select the one best answer for each questi®d.NOT use a calculator in completing this packet.

1. Which of the following sets of numbers atkeof the factors of 24?

A 13,8 24

B. 2,4,6,8,12,24

C. 2,3,46,8,12

D. 1,2,3,4,6,8,12, 24

2. Which of the following numbers is a multiple of 8?

A. 18
B. 28
C. 44
D. 56

3. The following are all multiples of a one-digit numhkEz; 24, 30, 42.

A.
B.
C.
D.

oo~ O Ol

4. Which number is a multiple of 3?

A. 83
B. 84
C. 85
D. 86

5. Which of the following set of numbers are all muéspof 77?

A. 35,47, 52
B. 35, 36, 37
C. 35,42,49
D. 37,47, 57



6. Al sees this sign at a copy center. What is t& leumber of copies Al can make without losing
any money?

1. Copies cost 10¢ each.
2. Copymachines onlytake quarters.

3. Copy machines do NOT make change.
Ifyou make1copy, you will NOT get 15¢ back.

A 5

B. 30
C. 75
D. 150

7. Which of the following is NOT true about prime numbers?

A. They have exactly two factors

B. One is a factor of every prime number
C. No prime numbers end in zero

D. All prime numbers are odd numbers

8. Which set does NOT contain any multiples of 47

A. {24, 36, 42, 54}
B. {12, 15, 20, 24}
C. {8, 16, 24, 34}
D. {6, 10, 14, 18}

9. I am a factor of 36 and a multiple of 3. What nunayerl?

A 2
B. 4
C. 12
D. 15

10. Since 4 x 10 =40, and 40 x 5 = 200, then which of the foltpig true?

A. 14 x 45 =200

B. 4x10x5=200
C. 4x10x40=200
D. 40x10x5 =200

11. My number is a multiple of 5. It is less than 100 lzexsla factor of 6. What is my number?

A. 25 C. 60
B. 36 D. 66



12. Write the products: Practice any you do not know quickly.

4 8 11 2 2 7 10 12 6 5 9 5
2 x4 X2 x5 x3 x5 x3 x4 x3 x4 x4 x3 x2

3 9 2 5 7 10 6 5 11 1 4 8
X3 x5 X7 x5 x4 x4 x4 X2 x5 X3 x5 X2 x4

6 8 6 3 9 10 12 3 7 4 9 4
x> x4 x2 x4 x3 x2 x3 x x3 x4 x2 x3 x2

13. Since 5 x 20 = 100, which number will complete the nursbr’tence below to make it true?
5x x5=100

A 4
B. 5
C. 20
D. 25
14. Solve 136 — 67.

A. 61
B. 69
C. 71
D. 79

11

12



15.

16.

17.

18.

19.

20.

21.

Solve 206 — 48.

158
242
162
262

oowp

Which expression is equal to 3 x 497

A 3x(4+9)
B. 3+ (40x9)
C. 3x(40+9)
D. 3x4)+(3x9)

Which has the same value as 57 x 4?

A. (50 x 4) + (7 x 4)
B. (50 +5) + 2
C. (50x5)+2
D. (50x4)+7

Which expression is equal to 83 x 5?

A. 80 x (3 +5)

B. (80x5)+ (3x5)
C. (5x80)+3

D. (80 x 5) + ((80 x 3)

Solve the following:

2,749 156 837
X 68 X 78 X 46

What is 1486 divided by 3? Show your work.

A. 4,812r0
B. 495r1
C. 280r10
D. 496 r0

What is 2520 divide by 10? Show your work.

A. 25,200
B. 2,520
C. 253
D. 252



22. What is the value of this expression? 420 +

A. 15
B. 100
C. 105
D. 150

23. There are 168 lunches to be shared equally among 3-fpadé classes. How many lunches will
go to each class?

A. 56
B. 165
C. 171
D. 504

24. What is the value of this expression? 3750 + 10

A. 370
B. 375
C. 3740
D. 37500

25. Which division problem is correct? Show your work.

4,836 ~+ 6 =86

4,836 +~ 6 = 806
3,215+5=0641
3,215 +5 =603

o0 w»

26. 1f 600 + A = 300, what is A?

200
30
20

oow»

27. Fill in the blank with the number that makes thisinsaintence correct:

12 x =60

oow>
ago M~
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. What value of A makes the number sentence true?
100+-A=20

4
5
80
120

oo

. What value of n makes the equation below true?
n+7=21

A 3
B. 28
C. 141
D. 147

. Which value of g makes the number sentence true?
g+8=32

A 4
B. 24
C. 40
D. 256

. What value of p makes the equation below true?
270 + p =27

7
8
9
1

ooy

0
. Which math problem can be checked using 3 x 6 = 187

18 x3=
18+3=

18+3=

18-3=

oo

. The students in your class collected pop cans tormaigey for a class trip. The goal for each
student was to collect 150 cans each. Ther&7aseudents in your class. How many cans would
that be altogether?

177 cans
405 cans
1350 cans
4050 cans

oow»



34.

35.

36.

37.

38.

39.

11

Suppose 33 photos are placed in a photo alboum. How mgey @ needed if 3 photos fit
on a page? Show your work.

9 pages

10 pages
11 pages
12 pages

oow»

Which answer means the same as $12.49?

One and two forty nines

Twelve and forty nine

Twelve and forty nine tens
Twelve and forty nine hundredths

oow»

Mr. Clark was given some change at the grocery.stdeewas given 5 one dollar bills, 6 quarters,
2 dimes and a penny. How much change did he get?

A. $5.62
B. $6.71
C. $56.21
D. $6.21

What decimal part of one dollar is the sum of theses®oi
Ty =N

i 3
\
\g

2.00
0.20
0.02
0.22

oo

What is another way to write 0.7 inches?

7/10000 inches
7/1000 inches
7/100 inches
7/10 inches

oow»

Which is equal to 0.457?

A 5
45

B. 100
100

C. 45

D. 100



40. Which number is the same as one fourth?
(think of ¥ of 100 when converting to decimals; thinknohey)

A. 04
B. 0.04
C. 0.25
D. 0.75

41. Which point on the number line belbest represents 1.75?

A B C D
<——e o—| oo | >
0 1 2
A. Point A
B. Point B
C. PointC
D. Point D

42. Match the following: Draw a line to make a match.

Four tenths .08

Eight hundredths 3

64 hundredths 4

3 tenths .64
43. Divide 3,252 +7

A. 463 R11

B. 464

C. 464 R4

44. Write the following in fraction and decimal form:

Eight tenths = =

Twenty-seven hundredths = =

Five hundredths = =

Five tenths = =

45. Write the following fractions in decimal form. rRember: » tenths hundredths

4/10 = 8/10 = 23/100 = 56/100 =

8/100 = 5/10 = 66/100 = 2/10 =

12



46. Which number is the same as .5?

A. One half

B. 5/1

C. Five hundredths
D. 5/1000

47. How is eighteen hundredths written in standard?orm
A. 0.018
B. 0.18
C. 18.00
D. 1800

48. Solve each of these without using a calculator:

4x6=__ 8x8=
2x9=__ 5x5=
8x5= 2x2=

32+4=__ 7TX7=
72+9=_ 18+2=
45+9= _ 4x4=
24 +3 = 3x3=

49. Choose the circled group that represents 1/3.

@ L
LiERtH

o o

o0w»
o0 w>

6 X6 =

9x6=

3x4=

56+7=

3x8=
8x7=

3x8=

13
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50. There are 4 red cars, 5 blue cars, and 2 greemdhesparking lot. What is the fraction of Blue cars
in the parking lot?

5
A 4

.
D. 5

51. What is the fraction for the shaded part of thi8 set

® ®® O O O O

A. 3/8
B. 3/4
C. 3/7

52 Look at this set of objects. Which fraction stafaishe part of the set that is shaded?

SEGN N B N _

3/5
5/3
5/8
3/8

o0w»



53. Which number line shows these two fractions?

50,1

2 "4

S
| P 3

] | | | | ¢ ¢ | ;
1 2 3

I e L e e e
1 2 3

<« { % + % + : ; ;
I 2 3

54. Which of the following best represents the locatiom®it on the number line below?

1%
1%
1%
2 Y4

oo w>

55. How many twelfths equal 5/67?

A. 10/12
B. 11/12
C. 6/12
D. 5/12
56. How many eighths equal ¥%?

1/8
2/8
4/8
7/8

oow»

57. Which number is an improper fraction?
A. 11/12
B. 5/8
C. 8/5
D. 6/7



58. Convert this improper fraction into a mixed numbed1/2

A 117%
B. 2/11
C. 4%
D. 5%

59. Which of the following is listed from smallest togest? Draw pictures

A1 13 2 L
4’ 6'712
15 8 517
312
2L
127
3 11
212 4

wpn

o o w »
‘Jmaﬁjm

60. Solve the following:

1x9=__ 3X6=
8x6= 2x2=

24+3=__ 7Tx7=
48+6=__ 18 +6=

61. Which of the following is a prime number?

21
33
49
53

oOwp

62. Choose the equation that is NOT true.

3 23 7
C. 10 100 100
§ 3 2

D. 10 5 3

O9x7=

3x8=

56 7=

7x3=

6x2=

9x9=

7X7=

4x0=

16



63

64.

65.

66.

67.

68.

69.

17

. The distance from home to school is 7/8 of a mile for Amy4/8 of a mile from Tom.
How much farther does Amy walk than Tom?

A, 11/8
B. 11/16
C. 3/16
D. 3/8

Sonya needs %2 teaspoon of salt for her recipe to nolédke She needs ¥4 teaspoon of salt for
her recipe to make biscuits. How much sdltshie need to make both recipes?

2/6 tsp.
3/4 tsp.
1/8 tsp.
1/6 tsp.

oow»

Solve for the unknown in this equation: 214314 n=

5/4
1/2
1/4
5/8

oow»

How much is 1.35 =57 Do not use a calculator!

A .27
B. .35
C. 5
D. 1.7

How much is 1.14 +2? Do not use a calculator. (mnand move decimal straight up into answer)
A7

B. .52
C. .57
D. 1.7

Which of the following is closest to the sum of 811 3%®6? No calculat&.

1400
1300
1200
1100

oow»

Which of the following is closest to the product of 8d 82? Do not use a calculator.

A. 6400
B. 7200
C. 720
D. 64,000
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70. One hundred fourth graders at Beacon Tree Elemar@asttending a field day. The teachers need
to know how many hot dogs to buy. All the following are reasorabeoximations EXCEPT.

A. 100 hot dogs
B. 150 hot dogs
C. 200 hot dogs
D. 50 hot dogs

71. A cat sleeps an average of 17 hours each day. Abounhbowhours does a cat sleep in a month?

A. 300 hours
B. 600 hours
C. 170 hours
D. 6000 hours

72. Find the difference: Remember “bottom bigger betteoidrand you can only borrow from next
door. You can always check your answers by addimgayzswer and the second number and this

should equal your top number.

701 68 100 63 35 114 66
-35 -27 -37 -47 -15 -37 -24
73. Find the product:

36 47 59 28 19 56 78
x 47 x 68 x 39 x18 x 47 x 36 x 37
74. This pencil is about how many centimeters long?

1|Tl1TiIIIIiIIIIi .|||'||"J_.‘11'[II11I']11TI'!I]TITII'I_|"II-‘ll'llllll'lﬁlilﬂl'iilll I|| '.”T[i"'—q""Im'l'”'l” | -III'I'II]ITFIIIIII]TIII'[T"ITI'I'I_!I

4 1+ 2 3 4 § 5 T 5 & WA 13

cenhmets o
8 5 v € z '

I]J

9cm

10 cm
11 cm
12 cm

o>
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75. What is the length of this light bulb to the nearegiinc

r::[ palt

.||f|||]|I]IIr|III|I'.

0 irches 1 z 3 L] 5

£i LR

mﬁmmmnmmmm b

2in.
3in.
4 in.
5in.

oow»

76. What is the best estimate of the area, in sqeatéenteters, of the SHADED FIGURE on the grid
below? One square equals one square centimeter.

< ™
A L

5 square centimeters

11 square centimeters

13 square centimeters

15 square centimeters

77. WhICh is most likely the length of a telephone book?

oo >

A. 30 kilometers
B. 30 centimeters
C. 30 millimeters
D. 30 meters

78. Brent is making a sail for a toy boat. The sail agede 3.55 cm wide. Which measure would be
MOST useful in making the sail?

A. To the nearest millimeter
B. To the nearest decimeter
C. To the nearest meter

D. To the nearest kilometer
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79. What temperature is shown on this thermometer, toctest degree?

A
B.
C. 57 degrees C
D.

50 degrees C
55 degrees C

60 degrees C

80. Bobbie was writing an article for the school newspalpentahe amount of homework th8 4
grade teachers were assigning. He was sutpadend out that the average student only spent
20 minutes per night doing homework. To make it stamger, he decided to convert the time

from minutes to seconds in the article. How maepsds did the average student spend on
homework?

oowp

80 seconds
120 seconds
800 seconds
1,200 seconds

81. Sheryl planned to buy a wall paper border for her bedr&m.measured the lengths of the
walls and found the perimeter of her room. theeicture below to determine the perimeter.

oow»

10ft

12 f

“0ft

22 ft.
34 ft.
44 ft.
120 ft.



82. Sheryl may want to buy new carpeting for her room. Sémsribe square footage of the room

to take to the store to price how much carpetimgicdvbe. What is the area of her room in the
picture above?

A. 22 square feet
B. 120 square feet
C. 100 square feet
D. 144 square feet

83. Using the formula for finding the area, what is the aféhe figure below?

Figure &

A. 18 sqg.cm.
B. 22 sqg.cm.
C. 32sg. cm.
D. 54 sg. cm.

84. Find the perimeter of the figure below?

6 feet

4 feet

4 feet

2 ft.

2 feet

A. 12 feet
B. 18 feet
C. 24 feet
D. 36 feet
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85. What is the area of the figure above?

12 square feet
28 square feet
24 square feet
36 square feet

oow»

86. Sharon had a rectangular garden with a perime@&$ fefet. The fence surrounding it was falling
down on one of the short sides (width). If the lenftihne garden was 10 feet, how many feet of
fence did she need to replace the broken portiatitof the fence?

Width = ? ft. Perimeter = 36 ft.
Length = 10 ft.
A. 6 feet
B. 8 feet
C. 10 feet
D. 26 feet

87. What is the area of the rectangle garden on the prepémes(#86)?

A. 6 square feet
B. 18 square feet
C. 80 square feet
D. 100 square feet

88. If the perimeter of a square is 48 cm, what isghgth of each side? (Draw a picture and think of
the key word of what type of shape it is.)

A. 8cm
B. 10cm
C. 12cm
D. 24 cm

89. What is the width of a rectangle that has a leafjthfeet and an area of 60 square feet?
Draw a picture.

A. 10 feet
B. 12 feet
C. 24 feet
D. 66 feet



90. What is the width of a rectangle with a length afiches and a perimeter of 16 inches?
Draw a picture.

2 inches
3 inches
8 inches
21 inches

oow»

91. Sarah opens her book. What is the angle formed lmp#drebook?

A. less than a right angle (acute)

B. equal to a right angle

C. greater than a right angle (obtuse)

D. cannot tell without a picture of a right angle

92. Which of the following is closest to 8 x 0.92?
A. 800

B. 80
C. 8

93. What is the size of this angle?

A. acute

B. equal to a right angle

C. obtuse

D. cannot tell without a picture of a right angle

94. Which angle is a right angle?
)
C \f// D /’



95. These lines are

A. parallel
B. perpendicular
C. not intersecting

96. These lines are

A. parallel
B. perpendicular
C. intersecting

97. Find the difference. Remember bottom bigger betteowo

307 821 600 501
- 147 - 424 - 323 - 247

98. In the drawing below, which line is parallel to line A
'

. D
C / \

B

- " -

¥

A. none of them
B. B
C. C
D. D

In the drawing above, which line is perpendicular to A?

none of them
B
C
D

o>

427
- 247

800

- 248

24



99. Which type of triangle has only 2 equal sides, likedth&ing below?

oo

/\

equilateral triangle
isosceles triangle
pyramid

right triangle

100. Which geometric figure is shown here?

oow»

AN

equilateral triangle
isosceles triangle
pyramid

right triangle

101. Answer the following questions on the figure below.

How many vertices does the box above have?

oow»

3 vertices
8 vertices
10 vertices
18 vertices

How many faces does the box above have?

oow»

6 faces
8 faces
10 faces
18 faces

How many edges does the box above have?

oow»

3 edges
9 edges
12 edges
18 edges

25
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102. Answer the following questions using the figure below.

How many faces does this figure have?

A. 2 faces
B. 3faces
C. 4 faces
D. 5 faces

How many vertices does the figure in #102 have?

A. 2 faces
B. 3faces
C. 4 faces
D. 5 faces

How many edges does the figure #102 have?

A. 3 edges
B. 4 edges
C. 5edges
D. 8 edges

103. Which of these shapes can be folded in half sdtdthathalves are the same (line symmetry)?
Show this by drawing the line of symmetry on ther€, then choose the correct answer.

a \\\ = ,.-""I kY [ {—:: “
. PR .. L
SN =T e
. s ™, = L
™, i \ ﬁ“mh'
- \ ey

Figure A Figure B

A. Tessellation
B. Copy
C. Flip
D. Slide
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105. Sharon had a bag of 12 marbles. She gave 8 of theesnarldon. Which fractional part of the
marbles did Sharon have left?

8/12
4/8
4/12
Ya

oOwp

106. Laura wrote 200 words on the first page of her jourktiér the second page, she had 400 words.
If the pattern continues, how many pages wglkie her to write 1000 words? Continue to fill in
the table to find the answer.

Page Words Total
Number words
1 200 200
2 200 400
3
4
5
6
7

A 3

B. 4

C. 5

D. 6

107. Answer the following questions using this set of dgfy.2, 3, 5, 10, 10, 10}

What is the median?

o ~NO Ol

hat is the mode?
2
5
8
10
hat is the range?
5
6

8
10

DOWPS UOWPS UOWH
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108. What is the length of a rectangle with a widtd oéntimeters and a perimeter of 28 centimeters?

A. 7 centimeters

B. 10 centimeters
C. 20 centimeters
D. 24 centimeters

109. Answer the following questions using this set of data.
8 11 18 11 20 9

What is the median?
A 8
B. 9
C. 11
D. 20

What is the range?
8

12

18

20

hat is the mode?

DoOwWrs UOWR

8
9
11
15

110. In which set is the median the same as the range?

A. 3,4,6,8,3,4
B. 2,4,5,6,4
C. 1,5/6,10,4
D. 7,8,3,6,1

111. Divide 875 +5. Show your work!

A.
B.
C.

112. Multiply 46 by 78. Show your work!
A

B.
C.



113. How do you write 45 hundredths as a fraction and decimal?

fraction

decimal

114. The chart below shows the number of minutes that &a¢ist on her computer each day for

one week.
Katie’'s Computer Time
Day Number of Minutes
Sunday 59
Monday 65
Tuesday 42
Wednesday 84
Thursday 64
Friday 37
Saturday 46

What number represents the median of the data in th&cha

47
53
59
37

oow»

What is the range of the data in the chart?
A. 37
B. 47
C. 88
D. 92

115. What is the median for this set of numbers?
2 8 4 4 15 7 14

oow»
B oo~ A
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116. Find the range of: 4, 12, 13,6, 5, 8

A 4
B. 8
C. 9
D. 13
117. Find the median of: 9, 4,3,7,2, 8,4

oow>
~NOoO O b~

118. Find the sum or difference: Watch the signs.

135 546 71 50 304 63 426
+479 +137 -18 -26 +235 -42 -135

17 54 135 3.2 8.8 8.1 4.8
+18 -39 -53 +2.8 +1.3 5.7 -2.6
400 621 842 699 85 286 73
-37 =57 -51 +23 +57 -44 +45

119. What is the range of the data set below?

2,1, 7 3,5 2,9 7, 10, 4, 2, 10

2
8
9

CSOwm»
[E

.10

120. Which shows the fractions in order from least to gs&ate
A. Ya, 1/3, Y
B. Y2, 1/3, Ya

C. 1/3, Y, %
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121. During July, the third and fourth graders kept track@iumber of minutes they read each week.
Use this graph to figure out how many minuted tbhéathird graders read in July.

Minutes Read In July
800
500
9 400
,_=': 300
= 200 1
100 1+
> I
1 2 3 4 |OThird Graders
Week B Fourth Graders
A. 250
B. 400
C. 1000
D. 2700

122. How many more total seeds did Liz spit acros$inbehan Donald, in all 4 rounds?

Watermelon Seed Spitling Conlesi

| Liz
@ Danakd

0 1 2 3 4 5 8 7 8 9 10 1 12 13
Number of Seeds Spit Across the Line

oow»
\lU‘I-b'_\



123. How many more girls were born in June through Audpest boys?

Humber o1 Boys or Gris

Boys and Glirils Born In Summer Monihs

June duly August

B Boys
B Girs

5

A
B. 6
C.

D. They are the same

7

124. How many more boys like baseball than girls?

oow»

Humber of Boys or Girls

Number of Boys and Girls Who Like Different

Sporis

@ Boys
B Girk

Basketball Golf Swimming

Tennis

10
15
20

32



125. Do the following divisions. Then check your answer. Sjmw work. No calculators!

Check your work:

A. 1524 +6=
X 6
1524
B. 380+10=
X 10
380
C. 4235+10=
X
D. 4) 769
X
E. 5) 765
X

126. Shade 3/5 of the boxes below:

33



127. Place these two fractions on the two number lines lielsivow why they are equivalent.

o

=
.

o
-
L

128. Show how these two fractions are equal by shading soraelofextangle.

£

!
2

129. Explain how these two fractions are equal.
1/3  2/6

You may use fraction bars or number lines to illustrate gaplanation.

34



130. Locate these two fractions on the number line, kedoed, and then explain which is larger.

is larger.

131. Locate and label these two fractions on the numieer rhen tell which is larger.

(g
(Y
3 | s

is larger

132. On the strips below, shade and label the following fractions.

= £ &
306 12

Largest fraction
Mid size fraction
Smallest fraction

35
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133. Locate and label this fraction on the number line.nThée it as a mixed number:

| w

134. Write this fraction as a mixed number. Then eragticture that represents it as a mixed number:

13
3

135. Identify the shaded portion of this picture as a mixgdoer and an improper fraction.

136. Write the following
fractions in order from least to greatest: Draw &upe

o2

— 1=

3 6 3

137. Write the following fractions in order from greateslefst.

| 3 9

1— il —_

4 4




138. Solve the following problems:

3 2
_+_:
4 4
3 2
4 4
L
12 4
_-|-_:
12 4

139. Using a ruler and a tool or object with a 90 degoesec, draw and label all of the following:

A pair of intersecting lines that is not perpendicular.

A pair of perpendicular lines.

A pair of parallel lines.

Draw a right angle.

Draw an obtuse angle.

37



140. Find the products.

Any multiplication problem you do not know quicklygse practice on flash cards.

x
o o

X
o

X
Ll N

12
x4

5

x4

12

x0

12
x0

12
x8

11
X6

6

38

38
x9 x3

X6 X3

121
x3 x3

32

12

11



141. Find the quotients.

39

22 39 8)32 7)49 5)10 40 1)1 48 2)12 954 13 12 2)4
8)8 7)63 8)40 5)0 4)4 4)12 9)45 963 6)6 3)12 1)7 3)0 1)9
2)16 3)3 3)15 520 3)18 3)6 5)15 7)0 9)27 4)16 7)21 4)20 7)28
8)16 3)21 9)18 4)24 2)6 1)8 5)35 7)35 3)27 6)36 3)24 2)0 4)32
9)9 4)36 6)42 5)40 8)64 T7)14 6)30 8)56 1)5 4)28 7)56 8)24 6)24
81+9=__ 48+-6=__ 18+6=__ 42 =7 =
10+2= 54 + 6 = 36+9=__ 45+ 5=
72+8= 8+2= 72+9=__ 6+1=
25+5=__ 5+5= 18+2=__ 30+5

CONGRATULATIONS!!! You have completed the summer math packet. You
are now ready for'5grade success! Please turn this packet into Yardde
teacher, the first week of school in September.



